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hmills1
Text Box
No, Dr. Steve.  You blew the product rule on the left-hand side of the equation.  Maybe you should've used that '1' that Beth wants you to use, man:
1 cos(y) + x (- sin(y)) y' = y' sin(x) + y cos(x)
The above is what the first step should look like, rather than the junk I did.
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hmills1
Text Box
Took me close to 5 minutes to realize I didn't necessarily have to find the x-intercepts for f (x);  rather, we just needed to find the critical values and sign pattern for f ' and f '' and guesstimate the x-intercepts with a little help from the y-intercept and the "shape" of f.
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         (0, - 2)
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hmills1
Text Box
Yet another blunder, under time crunch.  This is the RIGHT half of the TOP half of a circle of radius 5, centered at the origin.  The above is off by a factor of 2.
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